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T4 N 2 SeEh RE- |[#BEREV| RE B3] #HE =
ﬂ'::Fig ﬂ': hiY=) B *FE 7k5§ %$Fﬁ:ﬁ‘l Eq@ E_9§ EE ﬁﬁ {15 ¢ n%ﬁ%
[r2E TR 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0
564F 104.8 106.0 101.3 106.8 103.0 105.0 102.0 103.8 106.6 104.4 102.7
574 107.2 107.9 104.3 109.5 104.0 107.8 104.3 108.7 110.9 105.9 103.3
584F 109.6 109.5 107.7 109.5 103.9 116.0 106.4 108.2 1149 108.3 108.6
594 112.4 1121 111.0 111.6 106.5 119.6 109.5 1101 118.8 110.9 111.7
604F 1147 114.0 113.1 1119 107.9 1242 114.1 1129 1238 1125 1134
. N 2 LB RE- |#HRET| RE 3] = EE3 =
ﬁ&i‘iﬁ] ﬁ DIy =] ﬁ*‘l’ 1IE 7}(% %;Fﬁﬁ:ﬁ E% E‘Jﬁ ﬁ{% =] a’g\;;é n%ﬁ%
2B 101.3 101.3 100.8 105.0 100.8 100.9 100.4 100.3 1015 101.8 101.6
564 105.5 106.7 101.7 107.9 104.2 105.5 102.8 105.6 108.3 104.5 102.6
574F 107.7 108.2 105.3 109.6 103.5 109.2 104.5 109.2 1118 106.8 103.9
584 110.3 110.5 108.5 109.4 104.7 117.3 107.3 108.0 115.9 108.7 1101
594F 113.1 1125 1116 1123 107.2 1213 110.7 110.7 1198 1116 1122
604 115.0 117.1 113.5 111.7 108.1 124.3 114.5 113.6 125.0 112.9 113.6
N " LB RE- |#BREV| R B3] #E =
EE“ _ hiY=) B *FE 7](55 %5%5{: E!@ E_ﬁ EiE BE g nﬁ%%
1H 110.4 110.2 109.6 108.8 104.9 117.5 108.4 107.8 115.9 108.5 11141
RBAI594E 2R 111.7 1149 109.7 109.4 105.3 1119 108.4 108.9 1159 108.1 111.1
3R 111.2 1145 109.7 109.4 106.0 106.1 108.4 109.0 115.9 1104 111.1
48 111.1 112.9 110.1 109.4 106.3 108.1 108.4 109.4 119.7 110.5 1114
HEFN594F 12RH 1135 112.2 112.0 1123 106.6 1241 113.0 110.7 119.9 112.7 1123
18 1145 115.1 1123 112.0 108.6 1221 1128 1111 119.9 1123 113.1
2R 113.6 1141 1121 112.2 107.8 118.8 112.8 110.7 119.9 111.4 1131
FEF1604 3A 113.7 115.5 1123 112.0 107.9 1147 114.0 1111 119.9 1113 1132
48 113.8 114.7 112.2 112.0 107.7 1141 114.0 111.4 124.9 112.4 1133
58 115.2 113.6 1124 112.0 108.7 128.8 114.0 1143 125.1 1125 1133
HEF1604F 12RH 1154 112.7 1143 111.2 108.7 131.1 114.7 114.2 125.1 114.0 113.8
18 1154 115.2 1143 1112 109.2 1222 1147 114.0 125.1 1135 1138
2R 115.0 115.7 114.0 111.2 108.6 117.3 114.7 113.7 1251 113.5 114.0
IEF0614 3A 1147 1149 1142 1112 108.9 1177 1147 1135 125.1 113.0 114.0
48 115.2 115.0 114.6 111.2 108.8 118.5 116.5 113.0 129.6 114.6 114.0
58 117.1 114.2 115.0 111.2 107.4 137.1 117.0 1127 129.7 1149 118.2
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ﬁq:m $ (T = | ﬁ*‘l’ 1IE 7k5§ §$m% E% E_;ﬁ EE ﬁﬁ yl—%ﬁé n%’*‘ﬁ%
[2E TR 95.6 96.1 95.4 97.9 96.3 93.4 93.3 95.8 92.8 96.3 95.8
594F 97.9 98.3 97.8 99.7 98.7 96.3 96.0 97.5 96.0 98.6 98.5
604 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0
614 100.7 100.2 100.9 95.2 101.4 102.4 102.0 99.4 104.0 101.7 103.1
624 101.0 99.3 103.3 87.8 101.1 103.4 103.8 100.2 107.8 102.5 104.6
634F 101.8 99.7 105.9 85.3 99.4 106.1 104.5 99.8 110.9 103.6 1045
ERLITE 104.3 101.7 109.0 84.4 99.6 115.2 107.2 101.4 1139 106.3 105.5
25 108.0 105.9 112.6 86.4 102.0 124.4 107.2 102.3 117.7 110.0 106.7
. N 4 FER RE- |#EREVC| ®E 3] == BE <
ﬁ&i‘iﬁ] ﬁ piry =] ﬁ*‘l’ 1IE 7}(% %;Fﬁﬁ:ﬁ E% E‘Jﬁ ﬁ{% B a’g\;;é n%ﬁ%
P58 96.2 96.9 95.9 97.8 97.0 94.4 94.0 95.7 93.6 96.6 97.1
594 98.6 98.7 98.6 100.4 99.4 97.7 97.0 98.1 96.8 99.2 98.9
604F 100.3 100.2 100.3 99.8 100.2 100.3 100.3 100.4 101.2 100.2 100.3
614 100.6 99.5 101.4 92.4 101.5 102.8 102.8 99.0 105.1 102.1 104.0
624F 101.2 99.4 103.9 87.4 100.8 104.0 103.9 100.5 108.6 102.8 104.6
634 102.1 99.8 106.7 85.0 98.7 107.3 104.7 99.9 111.7 103.8 104.5
TR E 105.4 103.0 109.7 845 100.4 118.0 107.6 101.9 114.7 107.4 106.0
25 109.0 107.7 113.9 87.4 102.4 124.7 107.4 102.7 119.0 110.8 106.8
N wy SeEL RE- |HERERU| ®E 35 = BE =
EE“ _ hiRY =1 ﬁ*"' 11% 7kﬁ %Eﬁﬁﬁ E% E EE %&ﬁ b‘,—‘i;‘?é n’ﬁ%%
RAF0614F 12H 100.3 98.5 101.6 90.2 101.4 104.5 103.0 98.3 105.0 102.2 104.2
18 99.9 98.3 102.1 88.1 101.8 101.5 103.6 98.1 105.0 101.8 104.4
2R 99.9 98.3 102.4 88.0 101.4 100.3 103.6 99.2 105.0 101.8 104.6
HEFN624 3R 100.5 99.4 102.5 87.8 101.4 101.3 103.8 99.6 105.9 102.2 104.6
47 101.3 100.3 102.9 87.8 101.9 103.2 103.8 100.6 108.5 102.3 104.6
58 101.4 100.0 103.0 87.8 101.4 105.2 103.8 100.6 108.6 102.6 104.6
RAFN625F 12H 101.3 98.8 104.3 87.8 100.8 105.9 103.9 100.6 108.6 103.2 104.7
18 100.9 98.5 104.2 86.4 99.0 104.9 103.9 100.3 108.6 103.1 104.7
2R 100.8 98.7 104.2 86.4 100.9 102.1 103.8 99.9 108.6 103.1 104.6
FAFN634 3R 101.4 100.0 105.1 85.9 100.3 103.0 103.8 99.7 108.6 103.6 1045
47 101.8 100.3 105.2 85.9 99.8 104.9 103.7 99.5 111.7 103.9 104.4
58 101.6 99.2 105.1 85.0 99.7 107.1 104.6 99.4 111.7 104.1 104.4
RAFN634F 128 102.4 99.7 107.7 84.7 98.0 110.1 104.9 100.2 111.7 103.9 104.4
18 102.2 99.5 107.7 84.7 97.5 109.7 104.8 100.1 1111 1035 104.4
2R 102.1 99.4 107.6 84.7 97.6 107.7 104.9 100.1 111.7 104.2 104.5
ERTE 3R 102.4 99.7 108.1 84.7 97.0 108.1 104.9 100.3 111.7 104.7 104.2
47 103.9 101.8 107.9 83.7 98.8 1121 108.1 101.3 114.6 105.6 106.0
58 104.4 102.1 108.1 83.6 98.7 114.6 108.0 101.7 114.7 107.0 105.8
ERRITE 128 105.8 102.3 110.4 84.8 101.9 1235 107.5 101.9 114.7 107.7 106.0
18 106.1 103.5 110.9 84.9 101.1 121.0 106.5 101.9 114.7 108.2 106.0
2R 106.4 105.3 110.7 85.2 101.3 118.0 106.3 101.8 114.8 108.5 106.5
Erk2fE 3R 106.5 105.0 1111 85.2 99.7 119.6 106.3 102.0 1148 108.8 106.5
47 107.3 105.0 111.3 85.2 100.9 1235 107.3 101.9 118.1 109.4 106.5
58 108.0 100.7 111.7 85.2 102.3 127.0 107.4 101.9 118.8 110.3 106.7
ER2E 12H 110.0 107.3 115.7 89.5 104.8 129.9 107.4 103.8 118.8 1115 106.9
18 110.6 111.3 115.8 89.6 102.6 122.0 107.6 103.5 118.8 112.3 106.7
2R 110.1 111.2 115.9 89.3 102.5 117.9 107.4 103.2 119.1 110.9 106.9
ERk3E 3R 1111 112.6 116.3 89.2 101.7 122.0 107.4 103.0 122.1 111.8 107.2
47 111.7 113.2 116.2 88.8 102.8 124.8 108.0 101.7 1255 1125 107.3
58 117.1 111.9 116.4 88.8 103.6 128.4 108.0 101.6 125.6 113.1 107.6
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FRF1634: 94.3 94.1 94.0 98.7 97.5 85.3 97.5 97.6 94.2 94.2 97.9
TRTE 96.6 96.0 96.8 97.7 97.6 92.6 100.0 99.1 96.8 96.6 98.9
26 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0
3 103.6 106.1 104.5 101.8 99.1 102.5 100.1 100.7 105.8 102.8 101.0
45 106.2 106.4 109.2 105.4 98.8 1111 103.0 101.5 1114 105.4 102.6
54 107.5 107.3 1124 107.5 100.9 109.6 103.5 102.0 115.7 105.9 105.2
64F 108.3 107.8 116.6 106.8 98.1 106.9 105.2 101.4 118.2 107.6 106.5
14 107.5 104.8 117.8 106.5 93.1 104.9 106.3 101.3 122.4 107.2 106.6
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FAF1634E 94.3 94.2 94.8 98.4 96.8 86.3 97.7 97.7 94.9 94.4 97.9
TRITE 96.6 97.3 97.4 97.8 98.4 94.9 100.4 99.6 97.5 97.6 99.3
26 100.9 101.6 101.0 100.8 99.9 100.2 100.1 100.3 100.9 100.7 100.2
3F 104.3 106.5 105.7 101.7 99.1 104.5 100.4 100.9 1071 103.5 101.5
45 106.6 106.5 110.0 106.8 99.1 111.6 103.6 101.5 112.9 105.6 103.1
54 107.9 107.8 113.7 107.4 100.7 108.6 103.4 101.8 116.6 106.2 105.9
64 108.2 107.2 117.0 106.8 96.8 106.5 105.8 101.2 118.8 107.9 106.5
;3 107.3 104.1 117.3 106.2 92.7 105.2 106.7 101.6 123.5 107.1 106.3
N 2 LB RE- |#HRET| R Xl - #E =
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FRIE 12RH 105.0 106.5 106.7 101.7 98.7 109.0 100.1 102.4 107.1 104.1 102.0
1A 104.8 106.9 107.2 101.7 99.3 103.3 101.2 102.4 1071 1041 1021
28 105.0 106.4 107.5 101.7 99.5 105.2 101.1 102.2 107.1 104.8 102.4
TFRAE 3R 105.2 107.0 107.8 101.6 97.9 107.6 100.9 101.6 1071 105.0 102.3
48 106.4 107.6 108.5 101.6 97.9 1125 103.7 101.4 112.7 105.5 102.2
58 107.0 108.0 108.8 107.2 98.4 114.0 103.7 101.3 112.9 105.7 102.2
1H 106.5 106.7 110.6 107.3 99.3 108.2 103.2 102.1 1129 104.8 13.4
2R 106.6 107.4 1108 107.3 100.2 104.2 103.7 102.1 112.9 105.3 104.4
FR5E 3R 107.0 107.2 1109 107.3 100.2 108.6 103.6 102.1 1129 106.1 104.7
48 107.6 107.2 1115 107.2 103.7 1101 103.8 102.2 116.4 105.8 105.0
5H 107.7 107.0 111.7 107.2 102.4 113.1 103.7 102.2 116.6 105.7 104.8
68 107.6 106.3 112.2 107.2 102.1 113.5 103.9 102.0 116.6 105.8 105.2
1H 107.8 108.3 1145 106.9 99.9 104.0 103.5 101.1 116.6 106.8 106.6
2R 107.8 108.5 116.5 106.9 99.0 100.4 102.9 101.4 116.6 106.6 106.6
TR64E 3R 108.5 110.0 116.1 106.9 98.6 104.3 103.0 101.8 116.6 106.8 106.7
48 108.5 107.9 116.5 106.9 98.7 107.5 105.8 101.6 118.7 107.6 106.8
5H 109.1 108.4 117.0 106.9 98.6 110.6 106.0 101.7 118.7 108.1 106.5
68 108.6 107.0 117.6 106.9 98.9 109.9 106.0 101.4 118.7 107.4 106.2
1A 107.9 107.8 117.4 106.6 94.7 102.1 105.6 100.6 118.7 107.9 106.7
2R 107.4 107.2 1174 106.6 93.7 97.7 105.5 100.8 118.7 108.1 106.7
TRTE 3R 107.3 105.6 117.3 106.6 93.2 103.4 105.5 1011 119.5 107.4 107.1
48 107.9 105.5 118.1 106.6 91.8 106.2 105.1 101.2 123.5 107.5 107.0
5H 108.2 106.0 118.3 106.6 93.1 108.2 105.5 100.9 123.5 107.8 106.9
68 107.8 104.9 118.2 106.6 93.4 107.1 105.6 100.7 123.5 107.4 106.8
1A 106.9 104.1 115.5 105.2 93.6 103.2 1071 101.9 123.5 107.9 105.8
2R 106.5 104.3 1154 105.2 91.6 100.1 1071 101.9 123.5 107.0 105.4
THSE 3R 106.7 103.9 115.5 105.2 91.9 103.4 107.4 102.1 123.5 106.9 105.5
48 107.5 105.4 1149 105.2 92.4 107.4 108.3 101.9 124.8 107.0 105.7
5H 107.9 105.8 114.6 105.2 92.6 109.7 108.3 102.0 124.8 107.2 106.5
68 107.4 104.3 114.6 105.2 92.7 110.3 108.4 102.0 124.8 106.7 106.4




TR7ETH=100

- o X" | BB |BBRC| BRE | 2B BE | -
EFEJZSE 100.0 102.4 954 100.9 108.4 104.5 97.8 100.7 94.5 98.8 98.7
64 100.7 102.9 99.0 100.3 105.4 101.9 99.3 100.1 96.6 100.4 99.9
15 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0
84 99.5 100.1 96.5 995 99.9 102.8 101.6 100.6 102.1 98.8 100.0
94 101.4 103.0 97.0 103.5 98.9 105.5 107.2 101.0 103.8 100.5 101.6
105 101.8 105.2 96.7 101.9 94.7 105.7 115.0 100.4 105.7 100.3 102.0
1145 101.7 104.5 97.6 100.4 93.0 105.2 113.8 100.5 106.5 100.2 102.7
— N X" | BB |BBRC| BRE | RB TE | -
FETY we | &n | &8 | FE | AL TN S | FE | #F | gy | munm
EFEE5F§ 100.4 102.9 96.5 100.8 108.2 103.5 975 100.5 95.3 99.1 99.3
65 100.7 102.3 99.3 100.3 103.9 101.5 99.2 99.9 97.1 100.7 99.9
bi:3 99.7 99.3 99.2 99.6 99.9 100.5 100.4 100.3 101.0 99.7 99.7
84 99.8 100.6 96.5 100.1 99.7 103.7 101.9 100.5 1024 98.7 100.3
94 101.8 103.8 97.0 103.9 98.0 105.8 1104 101.1 104.3 100.9 102.0
105 101.8 105.3 97.0 101.5 93.8 105.7 114.7 100.3 106.2 100.1 102.2
1145 101.6 104.0 97.6 100.4 92.3 104.8 113.4 100.7 106.6 100.3 102.6
N X" | RE- |BBRC| BRE | RB TE | -
AR | wa | s | aR | BR \uno (PRRC| B | FE | 8P | e | munm
18 100.0 101.2 96.7 100.9 100.0 102.3 102.2 100.4 102.4 99.1 100.4
2H 99.9 101.6 97.0 101.3 99.6 98.4 102.1 100.4 1024 99.4 100.3
FRoE 3H 99.9 101.1 96.8 101.3 98.5 1021 102.2 100.3 102.4 99.0 100.0
4H 101.9 104.3 974 103.2 99.5 106.0 103.7 102.0 104.3 101.3 101.5
5H 102.2 104.2 97.4 1041 99.1 109.2 103.5 101.6 104.3 101.8 102.3
GE 102.1 104.6 97.3 104.1 99.5 108.2 103.2 101.4 104.3 100.9 102.4
1A 101.5 103.8 96.7 103.7 96.6 101.9 1149 101.0 104.3 100.9 101.9
2H 101.5 104.7 96.8 102.0 95.8 100.7 115.2 100.6 104.3 100.9 101.9
TR10E 3H 101.6 104.8 96.9 102.0 94.7 103.1 1154 100.7 104.3 100.8 101.8
4H 102.2 105.6 96.8 102.1 95.3 107.9 115.0 100.5 106.2 100.4 102.3
5H 102.4 106.3 96.7 1021 95.7 107.8 115.2 100.2 106.2 100.5 102.2
GE 102.0 105.4 96.6 102.1 95.0 107.3 115.5 100.2 106.2 100.1 102.2
1A 101.7 105.6 975 100.9 92.7 101.8 1141 100.3 106.2 100.3 102.7
2H 101.4 105.0 97.5 100.9 91.7 100.2 114.2 100.2 106.2 100.2 102.7
TRI1E 3H 101.6 104.4 98.1 100.8 921 103.7 114.2 100.3 106.2 999 102.4
4H 102.1 105.5 97.9 100.2 91.8 106.7 1144 100.3 106.6 100.1 102.7
5H 102.2 105.1 97.7 100.2 94.0 108.1 1147 100.3 106.6 100.3 102.9
GE 102.0 104.7 97.8 100.2 94.3 107.6 115.0 100.2 106.6 100.2 102.7
18 100.8 102.9 975 101.1 90.2 99.6 1129 101.0 106.6 100.1 1016.0
2H 100.7 102.9 97.5 101.1 89.9 98.1 1125 100.9 106.6 100.3 101.7
TR124E 3H 101.2 103.3 975 101.1 88.5 102.8 1121 101.1 106.6 100.4 102.5
4H 101.2 102.8 97.3 103.7 88.4 1054 112.7 100.6 107.5 100.0 100.6
5H 101.4 102.2 97.4 103.7 88.2 108.2 112.6 100.6 107.5 101.2 100.8
6H 101.2 102.5 97.2 103.7 88.7 106.8 112.5 100.7 107.5 99.9 100.8
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B N 2 SeE RE- |[#BREV| RE B3] #HE =
FRROF 100.5 100.8 99.9 100.4 1118 101.2 95.5 100.2 96.7 100.3 100.2
104 100.9 102.9 99.6 98.8 107.0 1014 102.4 99.6 98.5 100.1 100.6
[Rk:3 100.8 102.3 100.5 97.4 105.1 101.0 101.3 99.7 99.3 100.0 101.3
124 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0
134 98.7 99.4 98.3 100.4 93.6 98.9 100.6 98.9 101.0 96.5 100.7
M. 0o 2 HE RE- |[#BREV| & B3] #E =
FETH-A e joxs) EE X |zmma| @mw E& BiE 4] e HEME
FRROF 100.9 101.6 99.9 100.8 110.7 101.5 98.3 100.3 97.2 100.7 100.6
104 100.9 103.0 99.9 98.4 106.0 1014 102.1 99.5 99.0 99.9 100.8
[Rk:3 100.7 101.8 100.5 97.4 104.3 100.6 101.0 99.9 99.3 100.1 101.2
124 99.8 100.1 99.8 100.5 98.9 994 100.3 99.8 100.2 99.1 100.1
134 98.1 98.5 97.5 100.5 91.2 98.5 100.5 98.7 101.3 95.7 100.5
N " SeE RE- |[#BREV| & B3] #E =
3R 99.1 100.4 99.6 99.9 95.9 94.0 100.7 99.0 100.2 96.8 100.4
4R 99.4 99.9 100.0 100.5 96.3 100.4 100.5 98.9 1013 96.5 100.5
TH13E 5A8 98.9 99.6 97.9 100.5 95.5 101.0 100.6 98.7 101.3 97.0 100.1
6A 98.6 99.0 97.8 100.4 94.3 100.8 100.7 98.6 1013 96.2 100.5
7R 98.2 97.7 97.8 100.4 93.3 97.4 100.4 98.7 101.3 97.2 100.6
8H 98.8 99.0 97.7 100.4 92.6 95.5 100.8 994 101.3 99.9 100.5
3A 96.6 97.2 95.4 100.3 87.9 93.8 100.7 98.7 101.3 93.4 100.7
4R 97.0 97.9 95.3 97.4 87.6 98.6 994 98.8 102.9 93.5 101.1
TRH14E 5A8 971 98.5 95.2 97.4 87.1 97.9 99.3 99.1 102.9 93.7 1011
6A 971 98.0 95.3 97.4 87.0 98.2 99.5 98.9 102.9 94.3 100.8
7R 97.0 97.7 95.2 97.4 87.3 95.7 99.5 98.9 102.9 95.4 1021
8H 97.2 97.8 95.2 97.4 87.6 92.7 99.5 994 102.9 97.9 101.9
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